5.11 Review Day - mv.notebook December 06, 2017

Range [_5’ ;_}]
y-intercept l,a - - 5
Zeroes X = -ol.
Absolute min UA = ‘5

Absolute max u& = K

Relative Min coordinate

. (5, 75)
: Relative Max coordinate
Domain . (.3'._‘\
Range Increasing (0’;2)
Decreasing (— 3, D)
Positive (-3,

Negative (’07 c;)

Dec 12-6:56 AM

1af(-6)=3 f(-10)=-8 2a.y=2 3a. Miny =-9
f(2)=-21(-3)=-5 2b.y=0 Maxy =5
1b. x = -6 2c. o 3b. (-7, 6]
x=0.5,25,-3.25,-9 2d. (—»,0] 3c.[-9, 9]
1c.x=-8, -4 2e. (-»,2] 3d.x=3
1d. D =[-10,4) R=[-8,3] 2f.(-4,0)&(0,0) 3e.y=-5
le.Miny=-8 Maxy=3  2g. (-»,-2) 3f. (-4, 6)
1f. 3 2h. (-2, 0) 39. (-7, -4)
1g. Increasing (-10, -6) 2i (-4, 0) 3h. (3, 6)
Decreasing (-6, -3) 2j. (—0,~4) 3i. (-7, 3)
1h. Maxy = -2
Miny =-5
1i. Negative (-4, 4)
Positive (-6, -4)

Dec 6-6:57 AM



5.11 Review Day - mv.notebook

December 06, 2017

4a.[0,10]

4b. [0,7]

4c. 0

4d. 0

4e.0

4.7

4q. (5, 2.5)

4h. (3, 4.5)

4i. (0,3) OR (5,8)
4j. (3,5) OR (8,10)
4k. (0,10]

41. Does Not Exist
4m. f(1)=.5

5a. [0, 10]

5b. 1, 8]

5c.y=5

5d. None

5e.y=-1

5f.y=8

5g. (6, 2) or (10, 2)

5h. (0, 5) or (4, 2)

5i. (2, 4) or (6, 8)

5j. (0, 2) or (4, 6) or (8, 10)

5k. (0, 10) or [0, 10]
51. None
5m. x = 0.25, 3.75, 4.75, 6.5, 9.5

Dec 6-7:06 AM

Dec 6-7:06 AM
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